N of reco track vs dxy

N of associated (recoToSim) tracks vs dxy

true tracks

N of associated (recoToSim) looper tracks vs dxy

duplicate tracks
o

cour

0995 =50-15-10 -5

N of

.. tracks

reco track vs dz

5 10 15 20 25
track dxy (cm)

0 20 30
track dz (cm)

0.

track dxy (cm)

[N of associated (recoToSim) tracks vs dz_]

Jrue tracks

10

=30 -20 -10 O 10 20 30
track dz (cm)

—-25-20-15-10-5 0 5 10 15 20 25

095=50-15-10 -5 0 5 10 15 20 25

Ratio

[fake tracks

U

track dxy (cm)

=30 -20 -10 O 10 20 30
track dz (cm)

10 15 20 25
track dxy (cm)

| N of associated (recoToSim) looper tracks vs dz |

duplicate tracks
o

10 20 30
track dz (cm)



	Contents
	Page 1


